

Acta Universitatis Palackianae Olomucensis. Facultas Rerum
Naturalium. Mathematica

Jaroslav Hančl

A use of the Laplace method in differential equations

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 29 (1990), No. 1, 231--241

Persistent URL: <http://dml.cz/dmlcz/120234>

Terms of use:

© Palacký University Olomouc, Faculty of Science, 1990

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

Katedra matematické analýzy a numerické matematiky
přirodovědecké fakulty Univerzity Palackého v Olomouci

Vedoucí katedry: Doc. RNDr. Jindřich Palát, CSc.

A USE OF THE LAPLACE METHOD IN DIFFERENTIAL EQUATIONS

JAROSLAV HANČL

(Received September 1, 1989)

This paper is practically the continuation of paper [3].
The Laplace method and the Kummer transformation are applied on
the certain class of linear partial differential equations of
the n -order, which is greater than that one in the above in-
troduced paper.

Introduction

We will study the equation

$$\sum_{k=0}^n a_k(t,y) \frac{\partial^k u}{\partial t^k} = \sum_{p=0}^m b_p(y) \frac{\partial^p u}{\partial y^p} + q(t,y) \quad (1)$$

in interval $(t,y) \in J_1 \times J_2$, where $J_1 = \langle 0, \infty \rangle$ and $J_2 = \langle y_0, \infty \rangle$,
 y_0 is a real number, with initial and boundary conditions

$$\frac{\partial^k u}{\partial t^k}(0, y) = f_k(y) \quad (k = 0, 1, \dots, n-1) \quad (2)$$

$$\frac{\partial^p u}{\partial y^p}(t, y_0) = g_p(t) \quad (p = 0, 1, \dots, m-1) \quad (3)$$

where m and n are natural numbers.

Notation and assumptions

$C^{(n,m)}(J_1, J_2)$ will be the set of all continues functions $f(x, y)$ with their continues derivatives up to the order n regarding x and up to the order m regarding y . Analogically $C^{(n)}(J)$ will be the set of all continues functions with their continues derivatives up to the order n ; $C(J) = C^{(0)}(J)$.

Let us suppose $B_i(y) \in C(J_2)$, $B_n(y) a_n(t, y) > 0$, $a_n(t, y) \in C^{(n,0)}(J_1, J_2)$, $a_{n-1}(t, y) \in C^{(n-1,0)}(J_1, J_2)$ for every $(t, y) \in J_1 \times J_2$. Denote

$$x(t, y) = \int_0^t \left(\frac{B_n(y)}{a_n(s, y)} \right)^{\frac{1}{n}} ds, \quad (4)$$

and $t(x, y)$ is an inverse function of the function $x(t, y)$ for every $y \in J_2$. Further, let us denote

$$P(x, y) = \int_0^x \left(- \frac{B_{n-1}(y)}{B_n(y)} + \frac{1}{n B_n(y)} \left(\frac{B_n(y)}{a_n(t, y)} \right)^{\frac{n-1}{n}} \cdot \left(- \frac{n-1}{2} \frac{\partial}{\partial t} a_n(t, y) + a_{n-1}(t, y) \right) \right) dx \quad (5)$$

and

$$A_k(x, y) = \frac{1}{k!} \sum_{i=k}^n T_{ki}(t(x, y)) a_i(t(x, y), y)$$

where

$$T_{ki}(t(x,y)) = \frac{\partial^i}{\partial r^i} \left[(x(t(x,y) + r, y) - x(t(x,y)))^k \right]_{r=0}$$

for $k = 0, 1, \dots, n$.

Let us suppose, that

$$\lim_{x \rightarrow \infty} t(x, y) = \infty$$

for every $y \in J_2$ and there exist Laplace images of functions

$$e^{P(x,y)} q(t(x,y), y), e^{P(x,y)} g_p(t(x,y), y)$$

for every $y \in J_2$, $p = 0, 1, \dots, m-1$. Let us denote them

$$Q(\lambda, y), G_p(\lambda, y).$$

Denote also

$$S(\lambda, y) = \sum_{k=0}^n \sum_{j=0}^k \left[\frac{\partial^j}{\partial x^j} [e^{P(x,y)-\lambda x} A_k(x,y)] (-1)^{j+1} \right. \\ \left. \sum_{i=0}^{k-j-1} f_i(y) \frac{1}{i!} \frac{\partial^{k-j-1}}{\partial r^{k-j-1}} [(t(x+r,y)-t(x,y))^i] \right]_{x=0} - Q(\lambda, y)$$

We will require that

$$a_k(t, y) = \det H_k \tag{6}$$

where $H_k = (h_{ij}^k)_{i,j=1}^{n-k+1}$

$$\begin{aligned}
 h_{ij}^k &= \frac{\frac{\partial^{n-j+1}}{\partial r^{n-j+1}} \left[(x(t+r, y) - x(t, y))^{n-i+1} \right]_{r=0}}{(n-i+1)! \left(\frac{\partial x(t, y)}{\partial t} \right)^{n-i+1}} & i \geq j, j \neq n-k+1 \\
 &= 0 & i < j, j \neq n-k+1 \\
 &= \frac{\sum_{s=n-i+1}^n (n-s+1) B_s (e^{P(x, y)})^{(s-n+i-1)}}{e^{P(x, y)} \left(\frac{\partial x(t, y)}{\partial t} \right)^{n-i+1}} & j = n-k+1
 \end{aligned}$$

As in paper [3] we can assure, that these assumptions agree with (4) and (5).

Equivalent equation

Let the equation

$$\left(\sum_{i=0}^n B_i(y) \lambda^i \right) v(\lambda, y) + S(\lambda, y) = \sum_{p=0}^m b_p(y) \frac{\partial^p v}{\partial y^p} \quad (7)$$

is defined in intervals $\lambda \in J_1, y \in J_2$ with boundary conditions

$$\frac{\partial^p v}{\partial y^p}(\lambda, y_0) = G_p(\lambda, y_0) \quad (p = 0, 1, \dots, m-1) \quad (8)$$

Definition: $u(t, y)$ is a solution of equation (1) if and only if $u(t, y)$ satisfies equation (1) everywhere and $u(t, y) \in C^{(n, m)}(J_1, J_2)$. Analogically $v(\lambda, y)$ is a solution of equation (7) if and only if $v(\lambda, y)$ satisfies equation (7) everywhere and $v(\lambda, y) \in C^{(0, m)}(J_1, J_2)$.

Let $u(t,y)$ is the function such that

$$u(t,y) \in C^{(n,m)}(J_1, J_2) .$$

Let us suppose, that

$$\lim_{x \rightarrow \infty} \frac{\partial^j}{\partial x^j} (e^{P(x,y)-\lambda x} A_k(x,y)) \frac{\partial^{k-j-1} u}{\partial x^{k-j-1}} = 0$$

for every $k = 0, 1, \dots, n$, $j = 0, 1, \dots, n$, $k > j$ and

$$\begin{aligned} & \sum_{k=0}^m b_k(y) \frac{\partial^k}{\partial y^k} \int_0^{\infty} e^{P(x,y)-\lambda x} u(t(x),y) dx = \\ & = \int_0^{\infty} \sum_{k=0}^m b_k(y) e^{P(x,y)-\lambda x} \frac{\partial^k}{\partial y^k} u(t(x),y) dx \end{aligned} \quad (9)$$

hold for every $\lambda \in \mathbb{R}^+$. Further, let us suppose, that there exist Laplace images of functions

$$A_k(x,y) e^{P(x,y)} \frac{\partial^k u}{\partial x^k}$$

for every $k = 0, 1, \dots, n$, $y \in J_2$.

Let the function $u(t,y)$ satisfies condition (3).

Lemma : Let us suppose above introduced assumptions. Then for every $k = 0, 1, \dots, n$ hold

$$A_k(x,y) = e^{-P(x,y)} \sum_{i=k}^n \binom{i}{k} B_i(y) \frac{\partial^{i-k}}{\partial x^{i-k}} (e^{P(x,y)}).$$

The proof of this lemma is analogous to the proof of the lemma in paper [3]. We leave it out.

Main resultes

To fulfilled condition (9) it is sufficient e.g. that

$P(x,y) = P(x)$ and $t(x,y) = t(x)$. We can carry out it in several ways as we will see in following theorems.

Theorem 1 : We will suppose all introduced assumptions from the chapter "Equivalent equation" and "Notation and assumptions" and let $v(\lambda,y)$ is for every $y \in J_2$ the Laplace image of the function

$$e^{P(x,y)} u(t(x),y)$$

and also the solution of the linear differential equation (7) with boundary conditions (8). Let for functions $a_n(t,y)$ and $a_{n-1}(t,y)$ hold

$$a_n(t,y) = F(t)B_n(y)$$

$$a_{n-1}(t,y) = R(t)B_n(y)$$

where $F(t) \in C^{(n)}(J_1)$, $R(t) \in C^{(n-1)}(J_1)$.

Further let there is positive real number K such that for every $y \in J_2$ is right $B_{n-1}(y) = K \cdot B_n(y)$. Then $u(t,y)$ is a solution of partial differential equation (1) with initial and boundary conditions (2) and (3).

The proof of this theorem is analogous to the proof of the theorem in paper [3]. We leave it out and only prove the independence of functions $P(x,y)$ and $t(x,y)$ on y .

$$\begin{aligned} x(t,y) &= \int_0^t \left(\frac{B_n(y)}{a_n(s,y)} \right)^{\frac{1}{n}} ds = \int_0^t \left(\frac{B_n(y)}{B_n(y)F(s)} \right)^{\frac{1}{n}} ds = \\ &= \int_0^t \left(\frac{1}{F(s)} \right)^{\frac{1}{n}} ds \end{aligned}$$

It implies $t(x,y) = t(x)$.

Further

$$P(x,y) = \int_0^x \left(-\frac{B_{n-1}(y)}{nB_n(y)} + \frac{1}{nB_n(y)} \left(\frac{B_n(y)}{a_n(t,y)} \right)^{\frac{n-1}{n}} \right) dt$$

$$\begin{aligned}
& \cdot \left(-\frac{n-1}{2} \frac{\partial}{\partial t} a_n(t,y) + a_{n-1}(t,y) \right) dx = \\
& = \int_0^x \left(\frac{-K B_n(y)}{n B_n(y)} + \frac{1}{n B_n(y)} \left(\frac{B_n(y)}{F(t) B_n(y)} \right)^{\frac{n-1}{n}} \right. \\
& \cdot \left. \left(-\frac{n-1}{2} F'(t) B_n(y) + R(t) B_n(y) \right) \right) dx = \\
& = \int_0^x \left(-\frac{K}{n} + \frac{1}{n} \left(\frac{1}{F(t)} \right)^{\frac{n-1}{n}} \left(-\frac{n-1}{2} F'(t) + R(t) \right) \right) dx = P(x).
\end{aligned}$$

Theorem 2 : We will suppose all introduced assumptions from the chapter "Equivalent equation" and "Notation and assumptions" and let $v(\lambda, y)$ is for every $y \in J_2$ the Laplace image of the function

$$e^{P(x,y)} u(t(x), y)$$

and also the solution of linear differential equation (7) with boundary conditions (8). Let for the functions $a_n(t, y)$ and $a_{n-1}(t, y)$ hold

$$a_n(t, y) = F(t) B_n(y)$$

$$a_{n-1}(t, y) = F(t) \frac{n-1}{n} \frac{1}{n} B_{n-1}(y) + B_n(y) V(t),$$

where $F(t) \in C^{(n)}(J_1)$, $V(t) \in C^{(n-1)}(J_1)$. Then $u(t, y)$ is a solution of linear partial differential equation (1) with initial and boundary conditions (2) and (3).

The proof of this Theorem is analogous to the proof of the Theorem in paper [3]. As in Theorem 1 we leave it out and only prove the independence of functions $P(x, y)$ and $t(x, y)$ on y .

$$x(t, y) = \int_0^t \left(\frac{B_n(y)}{a_n(s, y)} \right)^{\frac{1}{n}} ds = \int_0^t \left(\frac{B_n(y)}{B_n(y) F(s)} \right)^{\frac{1}{n}} ds = \int_0^t \left(\frac{1}{F(s)} \right)^{\frac{1}{n}} ds$$

it implies $t(x, y) = t(x)$.

$$\begin{aligned}
P(x,y) &= \int_0^x \left(-\frac{B_{n-1}(y)}{nB_n(y)} + \frac{1}{nB_n(y)} \left(\frac{B_n(y)}{a_n(t,y)} \right)^{\frac{n-1}{n}} \right. \\
&\quad \left. \left(-\frac{n-1}{2} \frac{\partial}{\partial t} a_n(t,y) + a_{n-1}(t,y) \right) \right) dx = \\
&= \int_0^x \left(-\frac{B_{n-1}(y)}{nB_n(y)} + \frac{1}{nB_n(y)} \left(\frac{B_n(y)}{B_n(y)F(t)} \right)^{\frac{n-1}{n}} \right. \\
&\quad \left. \left(-\frac{n-1}{2} B_n(y)F'(t) + B_n(y)V(t) + F(t)^{\frac{n-1}{n}} \frac{1}{n} B_{n-1}(y) \right) \right) dx = \\
&= \int_0^x \frac{1}{n} \left(-\frac{n-1}{2} F'(t) + V(t) \right) \left(\frac{1}{F(t)} \right)^{\frac{n-1}{n}} dx = P(x)
\end{aligned}$$

Conclusion

This method is suitable in the cases when coefficients $a_k(t,y)$ ($k = 0, 1, \dots, n$) fulfill (6) and when we know the solution of equation (7) with boundary conditions (8). Say in other way we transfer equation (1), with boundary conditions (2) and (3) to equation (7) with boundary conditions (8) using the Laplace method and Kummer transformation in the form $e^{P(x)}$. $u(t(x), x)$. We can solve equation (7) by any numerical method and in some cases we can reach the solution in analytical form.

SOUHRN

UŽITÍ LAPLACEOVY METODY V DIFERENCIÁLNÍCH ROVNICÍCH

Článek popisuje možnost řešení lineární parciální diferenciální rovnice n-tého řádu typu

$$\sum_{k=0}^n a_k(t,y) \frac{\partial^k u}{\partial t^k} = \sum_{p=0}^m b_p(y) \frac{\partial^p u}{\partial y^p} + q(t,y)$$

pomocí kombinace Laplaceovy a Kummerovy transformace. Koeficienty $a_k(t,y)$, $b_p(y)$ ($k = 0,1,\dots,n$, $p = 0,1,\dots,m$) a funkce $q(t,y)$ musí splňovat ještě další předpoklady.

Touto kombinací lze lépe řešit některé typy parciálních diferenciálních rovnic než klasickou metodou.

РЕЗЮМЕ

ПРИМЕНЕНИЕ МЕТОДА ЛАПЛАСА В ДИФФЕРЕНЦИАЛЬНЫХ УРАВНЕНИЯХ

Я. ГАНЧЛ

В статье показывается возможность решить линейные дифференциальные уравнения в частных производных n -того порядка типа

$$\sum_{k=0}^n a_k(t, y) \frac{\partial^k u}{\partial t^k} = \sum_{p=0}^m b_p(y) \frac{\partial^p u}{\partial y^p} + q(t, y)$$

при помощи комбинации преобразования Лапласа и Куммера. Коэффициенты $a_k(t, y), b_p(y) (k=0, 1, \dots, n, p=0, 1, \dots, m)$ должны удовлетворять данным условиям.

При помощи этой комбинации возможно решить некоторые типы дифференциальных уравнений в частных производных, которые трудно решить классическим методом.

REFERENCES

- [1] D o e t s c h, G.: Handbook of the Laplace Transformation. Basel, Birkhauser, 1950 (German).
- [2] H a n ě l, J.: A note to the Laplace Transformation. Acta Univ.Palac. Olom. (1988).
- [3] H a n ě l, J.: The Laplace Method of the Linear Partial Differential Equations of the n-order. Acta Univ.Palac.Olom. (1989).
- [4] L a i t o c h, M.: About Solutions of functional equation $F(S(x)) - F(x) = 1$. Časopis pro pěstování mat. 81 (1956), 420-425.
- [5] L a i t o c h, M.: To a problem of ortogonal systems with the weight. Acta Univ.Palac.Olom. 3 (1960), 11-28 (Russian).
- [6] P í r k o, Z. - V e i t, J.: The Laplace Transformation. Praha, SNTL, 1983 (Czech).
- [7] W e i n b e r g e r, H.F.: Partial Differential Equations with Complex Variables and Transform Methods. Blaisdel.Publ., 1965.
- [8] W i d ó e r, D.W.: The Laplace Transform. Princeton, 1946.

Author's address:

ÚTHP ČSAV
Místecká 17
703 00 Ostrava 3
Czechoslovakia